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Example: p=7

G55 380 (1425 760 |- 7401520

" 3040

670 388 [1455 776 200 /1552

1 3104|

0396 00 792| 1584

~173168

70 404 | 1" 808| 11616

Gii3232|

Sl 412|000 824 1 1648

4003006

795 420|170 840 | o 1680

1% 3360

i 428t gse 1712

aazs

285 82g 988 essga=a sz s

| ” ”
| © 436 |1c0c 87200 744

867 3483

22| /77 aaa]i0: se8 | 1776

990 3552

and, as yz+2=!

511 1023 2047

All 10 profiling parameters of the
Mersenne Prime-Perfect Number pairings !
that one finds on the BIM
can also be found on the DMT.

Example: p=5 x=16 y=15 2z=Mp=31
x“=256 y =225 z°=MPS=961
x2=PN=496 yz=0C=465 xy=CR=240 F

To do so, one must look at the table :
proper values and their Running Sums (3).

If one multiplies the p-value - z=Mp the product|
" is some portion (y/p) of the yz=OC value. |

[p2)y/p}=yz=0C

then
[(p2)y/p) + z=x2=PN
and eliminating the “p” solves the same |

[(@)y] + z=xz=PN

The p-value--that here stands for the '
Exponential Power of 2 -1
and may be a TRUE Prime or a “container”-- -
also functions to indicate the number (#) '
of STEPS across the DMT. The “bookends"
of these STEPS will be the ODDs and the
EVENSs Not+4/EVENs+4 that hold the PN. -
Between will be the STEP values of the Js.

One can find the § by adding z+2(2)

3142(31)=93

3142(93)=217

3142(217)=465=y2=0C
v+2(1905)=3937

If one adds up only the J's inside the bookends
— but NOT the yz=0C —
___and adds p+1 # of z values, one gets the PN!

=310

p=5, so p+1=6
so add 6z to 310

6(31)+310=496=PN=xz

One can find the § by adding z+2(2) N

12742(127)=381
127+2(381)=889
127+2(889)=1905
127+2(1905)=3937
127+2(3937)=8001=yz=0C

. If one adds up only the 2s inside the bookends|
— but NOT the yz=0C —
and adds p+1 # of z values, one gets the PN! ‘|

=PN
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